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MATHCMATICS By Pradeep Sir

o5 I = "C" r Q. 1) A dishonest shopkeeper sells rice at a cost price but
W L9 makes a 25% profit by using faulty weights. He decides
C 9 SP 5¢ to give a discount to attract more customers. What
e = percent of discount should he offer to maksalgl% rofit?
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Q. 2) A discount of 27% on a certain bill, and the
difference between two successive discounts of 20% and
10% was Rs.56. Find the amount of the bill. -
o fAfda fas w 27% @t ge, ahv;gg;mnlg_,%ﬁa’i
PIU® Yel & dig BT 3a¥ 56 U UT| fad S Y=RIRT
Cais e ~—— -./3
SSC CHSL MAINS 10/01/2024 (Shift-01)
(a) Rs.5,600 -
(b) Rs.1,120
(c) Rs.1,866 y S6
(d) Rs.5,500 A
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5 Q. 3) The marked price of a grinder was Rs.3,000, and the
20 +15 - 26% 45 o 32 dealer offered successive discounts of 20% and 15% on
< J _tee P —= it. For how much did he sell the gnnder?

5 ﬁg YT IR SR ATTAWR
—J 20%'5315%3& Waﬁmaﬁlzﬂﬁm

fPaaddEm — >
A VE SSC Phase X1l 20/06/2024 (Shift-02)
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Q. 5) A dealer advertises that he sales his goods at cost
‘Dbﬁﬁ) —> 19900 pA price. But he uses 950 gm for 1 kg weight. Find his gain
or loss percentage.

U® sStar fagmu= a1 ¢ i a8 = ure %9 gou i d9an
\ooey M =5 100 &5 AT a8 1 Fu 1@ WX & AT 950 T BT I
a gm%la?a:mmmﬁ?ﬁmmaﬁﬁwj

SSC Phase Xl 24/06/2024 (Shift-02)
c P 5 P (a) Gain %%

(b) Loss . %

.
o0 (c) Gain —%

L0 (d) Loss % %
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Q. 6) A single discount equivalent to three successive

A ry discoupts of 10%, 12% and 15% is
— 19%, 12% 3R 15% B! A9 BIAP Fel $ WIaR TP (od
¢ oo ¥ BT BN
SSC Phase XII 24/06/2024 (Shift-02)
p B 3y (a) 31.87% I

— (b) 33.55%
o ¢) 30.87%
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Q. 7) A shopkeeper announced 17% rebate on the
marked price of an article. If the selling price of the

article is Rs.1,245, then the marked price (in Rs.) of the
article is:

W#w aﬁmqmwn%w"twaﬂ

@11 afe 1245 04 ¢, d a5 BT
("\m:?g) ‘LW SR a¥q

SSC Phase Xl 25/06/2024 (Shift-04)
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Q. 8) A shopkeeper normally makes a profit of 20% in a
certain transaction; he weighed 900 gm instead of 1 kg
due to an error in the weighing machine. If he charges
15% less than what he normally charges, then what is his
actual profit or loss percenta

?
THAR g-l?f%a a7 #
o g o b 5 i el e

P! S8 900 UTH B dterar g1 afe a8 I e | 15%

$H Yob Adl 8, dl ITPI @y a1 g wufa=a
fFaar a2
§SC Phase X1l 25/06/2024 (Shift-04)
a) 18.33% Profit/dTH
33% Loss/Bll
(d) 18.00% Loss/gTH
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Q. 11) Which of the following schemes will yield
maximum discount on purchase of Rs.x?

Profafa 3 @ 2.t Qo « ¥78 2 @iz W sy

Qe &t
' J1) 2 successive discounts of 25% and 15%
25% 3 15% Bt 2 HiH® e

(2) Single discount of 20%/20% &1 U&Hd B¢
(3) 2 free on purchase of 3 items

3 T3l Bl Wilg U¥ 2 TRE g

(4) 3 free on purchase of 7 ite items
7 TS Bl WG W 3 T¥GE U
—_ SSC Phase Xl 20/06/2024 (Shift-03)
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mye — (0O Q. 12) A dealer sells an article at Rs.850 after offering a
cash discount of 15% on its marked price. Without
y — 15/ discount, he would have earned a profit of 25%. What is
g5 the cost price of the article (in :ﬁs.) aﬁ >
sp = 8° TS Ster Sifdd Yo W 15% 31 T9g B g @
- - ®] 850 FUA # adT 81 P P _fa1 a8 25% BT AY
Fdl TG B P I (F@ W) fpamgr —
¥ g <100 = w - —SSC Phase XIl 24/06/2024 (Shift-03)
85 -
. (c) 900
P -l = A5 (d) 1000
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Q. 14) A dishonest dealer professes to sell grains at cost
lovo qgm — 10eeF3 price, but he uses a weight of 925 g for 1 kg weight. Find

his gain percentage. (Approximate to two decimals.)
%ﬁnﬁmwﬁmqmwma'ﬁmmm%,

Leeegqm plly _lf:E- gg 1 {5 &t o71E 925 TTW e ardt &1e &1 IUAnT
— Sl 21 IUDT a1y Ufawd J1d S| (SUHAd B g R
d® quiifea) —
SSC Phase Xl 26/06/2024 (Shift-03)
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o (c) 8.50
1_‘},5 e (d) 7.50
\5‘/ 7, 09
w 32
X v
AN A




MATHCMATICS

By Pradeep Sir

8 ‘;
@ 2.O+|5'-75£—’<§
AR
3S -3 3 2!
—

Q. 15) A shopkeeper offers the following three schemes:
wmhﬁ@aﬁﬁm&ﬁaﬁ SVl 8:

I. Buy 9 get 1 free/9 @IS 1 WA UG

Il. Buy 7 get 8/7 @ilq 8 UTY

l1l. Two successive discounts of 20% and 15%/20%
3R 15% B qt v g

Which scheme has the lowest discount percentage (all
articles have the same marked price)?

fFa gie1 & e &0 ge ufama 8 (@ axgsit &1 sifea
Ued 9HH 8)?

SSC Phase Xl 26/06/2024 (Shift-04)

(c) All are equal/d¥
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Q. 16) A shopkeeper offers 3 schemes of discounts to his
customers. Which of the following schemes will fetch the
minimum discount percentage?
DU w-S2t (A) Two successive discounts of 24% and 27%.
____~~  (B)BuyS5 get three free. @~
(C) Buy 6 and get 10.
U %m AEH! DI Fe DI 3 ToATE UG Bl
Eah E'I’Tn d ¥ 59 g | gAan ge uiaa ure

(A) 24% 3MX 27% P! 3 BfU® Fe

(B) 5 @ilg, i Jud UT|
(C) 6 Y 10 UTY|
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(a) A \ ‘D)o
(b)c C
(c) Both A and C}
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Q. 17) Find the single discount rate percentage
equivalent to the successive discounts of 10%, 20% and

20%. 10%, 20% 3R 20% P! HHNTT Ye & AHIA UPHd
¥c oI R ufawrd §1d Siferg) e

SSC CPO 27/06/2024 (Shift-01)
e

= =  (d)50%
9 SO




MATHECMATICS By Pradeep Sir

\n,';“‘\g 1
ao'/}g >

5¢

Y35 of15% Stge @

Q. 18) The marked price of an article is 35% more than its
cost price. If a discount of 15% is given, what will be the

%t%mg‘rta < IUP PY Ied | 35% s B
aﬁ,ﬁmmmm

SSC CPO 27/06/2024 (Shift-02)

(a) 1o§%
(b) 12%%
y.

(c) 13-%
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Q. 19) A doll is marked for Rs.2,500. A customer pays
Rs.1,800 for it. If the customer got a series of two

M P 50 >P 9 discounts and the rate of the first discount is 10%, then
4250 g g;?}%%'g?%ﬁ%’"fsﬁ‘%’%n UF UES THP frU
\ 800 :
45'00\/" - 1.,3oovrtr&$r;g—a1=|m%mﬁmaﬁa§zaﬁw
N s e § ok ugelt ge &t X 10% &, df gudl ge It
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Kol . ). SSC CPO 27/06/2024 (Shift-02)
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Q. 20) A dishonest dealer sells his goods at 20% loss on
P 5P the cost price but uses a faulty weight that weighs 25%
less. His profit or loss percentage (rounded off to 2
decimal places) is: L—
G Y wé?néim_ﬂ#mﬁ@qmwm%mﬁw
d9dT1 g Afdb T YUl qod &1 SUANT Hdl g APl
2 “ qe- 25% PH Bl gl SHSI @1 qL_FTIH @
" — Hed ®Hl b ya P~
1S ‘/(o SSC CPO 27/06/2024 (Shift-03)
U (a) 6.67%, loss —_—
e (b) 3.33%, profit N j
c) 3.33%, loss 901 -
0
A\ |
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wp 5P
B & 5p9 1424}

Q. 21) In a store, an item with marked price of Rs.82,500
is available at a discounted price of Rs.79,200. What is

g; ;_‘:‘g;e%tage of disc:mcsll;éi_\:{en on :.‘II%% iéeal;n?
, 82,500 ¥49Y
wn,zoﬁmﬁm%gmwﬁgm

(b) 3%
(c) 1%
(d) 2%

SSC CPO 27/06/2024 (Shift-03)
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Q. 23) A retailer marks up his goods by 130% and offers
25% discount. What will be the selling price (in Rs.) if the
cost price is Rs. 1600?

P fashar 3rua |HE &1 130% dTd 3ifdd
msa?fz 25% PI ge aar 81 af »T 4 1,600 $UL ¢,
ar ﬁazg_) e ($9d H) |1 8m? -

SSC CPO 28/06/2024 (Shift-01)

3) 3680
(b) 2760
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Q. 25) A shopkeeper gives a discount of 12% on the

purchase of 10 kg of sugar. The cost price of the sugar is

Rs.30/kg, and the marked price is Rs.38/kg. The

weighing machine of the shopkeeper is faulty, and it

shows weight of 1 kg when the actual weight is 900

Cp S P grams. Find the percentage profit of the shop keeper
(rounded off to two decimal places).

. wMEﬂ'-ﬂwﬂaﬁwu%aﬂ %m%l
30 R %ggrmﬁaqmso ?mﬁ g, aﬁ?am:z
| SPTGR A @RE
Qo0 000 mﬁﬁmsmmﬁm%a’tﬁ1ﬁmmm%|
—_ — gPHGR BT ATH UIdSd (GUHAT & gl 3Pl aP QuIited)
00 23U Y d Y| -
R SSC CPO 28/06/2024 (Shift-02)
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Q. 26) A dishonest dealer professes to sell his goods at
cost price but uses a false weight of 950 grams instead of

1k|lo ram. His gam percentage is:
-y ¢ S¢P a%amqmw%aﬁaﬂm
m @ﬁmﬁjﬁmn%mgsom%mmﬂ
Aso | v 0D SUGNT BT 8 | IHBT aTH wferra a1 g

\ ) SSC CPO 28/06/2024 (Shift-02)
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| /K2
lo+20 - vy 2 24 Q. 27) A shopkeeper kept the marked price of an item at
=1 Rs.500. He sold it at a scheme discount of 10% and 20%
and got a profit of 25%. What was the cost price of the
item? 3 . ;/m
cC P M od wmma{ﬁsamsoo @11 394
(00t ®)) sﬁmeg}??zoegﬁww%waﬁn_szmm
&loo—-m'l') - uTe f5aT)| g T 9 a Hed T U1
— SSC CPO 28/0672024 (Shift-03)
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Q. 28) The marked price of a table is Rs.5,980. If the
shopkeeper offers a discount of 18%, what is its selling

Erice in Rs., to the nearest rupee)?

&1 Sifdpd 5,980 ¥4 21 afe 18%
P! gc UeH m%gq ISP [a49d (8%
Wga?qmﬁ?n feaar 82 =

$SC CPO 28/06/2024 (Shift-03)
(a) 4,490

) ) £ "

(d) 4,094
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Q. 29) A shopkeeper wanted to sell Rs.2,000 worth of
products. But he had two options, giving three

successive discounts of 10% each or giving a single
discount of 28%. What was the difference between the

X | = 1o two options of dlscounts (in rupees)?

gﬂl a’iﬁm?mm%ﬁ?ﬁqm

szs%ﬁmw_ﬁlwﬁﬁﬁwﬁmm

M P >
e’ T (3. H)?
1o 9 — SSC CPO 29/06/2024 (Shift-01)
| © 9 ) s Q;Q‘\
*m 00
| © q —— 4
— — (d) 22
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Q. 31) Two successive price increases of 25% and 25% of
an article are equivalent to a'single price increase of:

fe<ht P! 25% 3T 25% @I & HAD
ﬁuﬁgﬁ@qumq@&smﬁ qar‘_q@

$SC CPO 29/06/2024 (Shift-01)
(a) 52.25%

- ' A __L
(€)56.25% | o0 T~
(igsezss ] o 15
S0+ b5 > 5 s
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Q. 32) A trader gives a 40% discount on his goods.

A xB Further, he gives 20% discount on the goods. Find the
L single discount equivalent to these two successive
discounts.
TS ATURT Y THH T 40% I FE gdl g | FHD 3felral,
U w2b a8 I W W 20% B AfaRkad e 3a1 21 39 3 HAS
1 Qel & GAged Uhd ge JId diegl — —
— SSC CPO 29/06/2024 (Shift-02)
=-r ) (a) 30%
=
¥
\1
I - &
3040 Ye2%)
Yy X .1
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Q. 33) A dishonest dealer sells an article at a 10% loss on
the cost price but uses a weight of 40 gm instead of 50
5P gm. What is his percentage of profit?

| a$uT fashe 4 Te9 W 10% 811 W U® avg a9a1 8
9 5‘, g%qsomaswnwmmmﬁawu’?nﬁm%l
=0 4 RN DGR IR e & 4 B —
, —— SSC CPO 29/06/2024 (Shift-02)
ub LY,
_— — (b)11.5%
(c) 10.0%
___% ‘-}-___— (:)18.4%
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Q. 34) The marked price of an immersion rod in an

w P — electronic store is Rs.900. The store offers a discount of

\ 2 D Vel - 12% on its sale. At what price (in Rs.) can a customer buy
it from the elec:t-\éﬁo_?lcﬁ store?

TP saiﬁ'ﬁaﬁi &1 3ifdd Hed 900

§P - 8% m%leﬁ?s\wﬁﬁgwn%% e Bl gl

gl sAaCi-® Wik | ﬁ'iﬁ‘ha W (\wﬁ H) @iig

SSC CPO 29/06/2024 (Shift-02)

O\Mx 8}

(c) 782
\84 (d) 797
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Q. 35) A shopkeeper offers a 10% discount on dairy
AP products and still manages to make a 20% profit. What is

Cy the actual cost (in Rs.) to the shopkeeper of a dairy
product marked Rs.420?

S rp-l) m@uﬁmwm%aﬁ a1 & afix fse oft
Q"“ ->k) Q“ P geﬁ%amm%umt@%ﬁﬁ:%aﬁ%uﬁm
A—Q' : AT I gPFGR & (oY IRATdD feate?
SSC CPO 29/06/2024 (Shift-03)
9 q\./‘ —_

y (b) 340
(c) 350
:g\ (d) 325
! A 2° 4 % r
/ : "’)\S A-d
)A ¢) /
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Q. 36) A dishonest dealer claims to sell his products at
24% loss on the cost price but uses 100 g weight instead
of 200 g weight. His profit percentageis:

US dgHH mmﬁﬁmmwzmaﬁw
a9 BT 3191 BT & AfP 200 ATH o9 & FoI19 100 ATH
o BT IUANT HYdT ¢ | ITDT a1y ufawra sra sifere)

SSC CPO 29/06/2024 (Shift-03)
!! ! ' 0 ".

(c) 48%
(d) 55%
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Q. 37) A seller marks an item for Rs.500 and sells it at a
discount of 25%. He also gives a gift worth Rs.65. If he
still makes 24% profit, then the cost price of the item (in
Rs.) is:

U% fashar Ue avg W 500 IUY &1 Yo 3ifhd &a1 g iR
I¥ 25% I Pe W dddl o | 98 65 tgumwwhémél
gf¢ ag v W 24% sy FuTaT B, O avg &1 AN & /
%4 e (394 ) J1d B

SSC CPO 29/06/2024 (Shift-03)
(a) 280
b) 270

(d) 320
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Q. 38) For an electric bill for Rs 50,000, what is the
difference between a discount of 30% and two successive

discounts of 26% and 5%?
\s) 50,000 U4 & fawrelt fae & forw 30% &t ge 3R 26% 3R

5% ) 3 B wel & 4 SR FId T £ r

SSC CHSL MAINS 02/11/2023 (Shift- 01)

/ (a) Rs 150 = =
/ (b) Rs 140

(c) Rs 130

(d) Rs 120
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% Q. 39) A shopkeeper sold his goods at half the list price
and thus lost 17%. If he had sold on the listed price, then
his gain percentage would be:

U gPMGR A AT ATd Sifbd geg |/ MY g W a1
IR W UPR I 17% @I g1 g1 afe IWA 3rg=1 wra
ﬁ e R a9 gial, df S9! arH ufa=raar feat

E , SSC CHSL MAINS 02/11/2023 (Shift- 01)
(a) 83%
o (b) 41%
(c) 17%

.\\0 \x:‘e/ * (d) 66%
ue ™










